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2 21200 DI
Hal: H2UONAES U MEHHER SY(SSHSLL/HSE - O E)
Sl BSNIMHHSE AR (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ol AF o8 HwsZ
RPCEPENER 20,000
ORAE BT 5,000
401 AEHILR ] 10,000 100,000 290,000
01 Al&| 10,000 100,000 90,000
(1012 BHeJ OF LY B X 10,000
405 X+arF S| 6,000 0 6,000
01 Kot 225 S| 6,000 0 6,000
IO Of 2 F 2l AF(1CH) 5,000
215 (3H) 1,000
LH4 240 T2 = 2,417,014 548,386 1,868,628
3 1,000,000
2 110,444
= 1,306,570
SIEINEE T 23,000 50,000 A27,000
401 NEHIYLS ] 23,000 50,000 A27,000
01 Al&| 23,000 50,000 27,000
OL2H2RHLSES2 20,000
OSNELSENNY 3,000
NETEECE=S/ T, 67,000 95,000 28,000
201 Yer2g| 24,000 28,000 A4,000
01 AtR2elt] 15,000 15,000 0
m[IEIE=1 15,000
OANB AL DN SR 10,000
OEZUHSEH S22 4| 5,000
02 ZTZ2H| 9,000 13,000 4,000
mf=EE] 6,000
SNELENE-SIEEE=1 6,000
mpEFSE 3,000
ONE I PUSHE XIS X bl 3,000
202 01t 6,000 5,000 1,000
01 =UH0i | 6,000 5,000 1,000
ENEEEVEFOEINEBES 6,000
207 STl 35,000 60,000 25,000
03 Algel | 35,000 60,000 £25,000
ENELEEET=TNED 5,000
ENEREEENEIRPIES] 10,000
ENEEEE I InblE 10,000
OAEH RS ALY 10,000
405 XtarFE S| 2,000 2,000 0
02 TAPAL 2,000 2,000 0
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200 HFdE

HH: GO NRTA L MEHSED SH(SNSSA/HLS - 0fF)
S RV R [V U TE S EER:E]
_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES O AFH '@,‘;OH Hws2
OHSYDATA 2,000
SRMASE 327,014 403,386 ~T76,372
= 110,444
[ 216,570
101 o124 3,264 52,676 ~49,412
2 2,546
[ 718
04 VMRS S 3,264 52,676 ~49,412
CIS10{ T E & 212|012 2 (0] ) 3,264
2 2,546
[ 718
201 Ypre | 45,000 52,400 AT7,400
01 At 2,000 1,400 600
Om =yl 2,000
OBR2RN &Y= 2,000
02 B2 40,000 46,000 A6,000
mEEL 35,000
OZQMMgII2H 2| 35,000
CIXt 24 | 5,000
ongxREH Y| 5,000
03 A2 3,000 5,000 A2,000
O SASERLYZHAH0IY) 3,000
202 OfH| 17,250 14,250 3,000
= 6,700
[ 10,550
01 201l 17,250 14,250 3,000
(0SS RMAS0IULAMSATYAIS K E& 6,000
DEMHBHE LSS (01) 11,250
= 6,700
[ 4,550
206 T2 H| 117,000 132,000 A 15,000
2 69,682
= 47,118
01 Mzl 117,000 132,000 ~15,000
02200102 5,000
OxJIAl2 P 30,000
DS LEMNBERYAAE(01Y) 57,000
2 51,500
= 5,500
O MERSEXAQRSETY(0Y) 25,000
2 18,382
= 6,618
207 1P| 88,000 48,000 40,000
g 9,257
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200 HFdE

HH: [f>HONREY 2 MEHED 2 (s b/ db - HE)
el s xRl (98
SA - HY-BR(EH) - NRAY - BES 0fl &t e HRE2
s 78,743
03 A&l +H] 88,000 48,000 40,000
O QMM (01 2) 30,000
OS2 E(01) 18,000
= 9,257
= 8,743
OCHEXSIE T (01) 40,000
401 Al HI LS HHI 30,000 30,000 0
=2 22,059
< 7,941
01 AI&HI 30,000 30,000 0
O EZZHEXILEIN(012) 30,000
= 22,059
== 7,941
405 XtobE SHI 26,500 74,000 A47,500
01 Mt =ESFSHI 26,500 74,000 A47,500
OAE L (50H) 10,000
OOSAMAII(1TH) 2,000
OPveE&E I (1TH) 500
O==Xt2 & (504) 3,000
Ozt (2) 6,000
O==8Z(50) 5,000
EL0 RSB AE 2,000,000 0 2,000,000
= 1,000,000
= 1,000,000
401 AIEHIZ R0 2,000,000 0 2,000,000
= 1,000,000
s 1,000,000
01 A&l 1,995,411 0 1,995,411
ODESHFMASNHAE 1,995,411
= 997,705
& 997,706
03 A2 204Hl 4,589 0 4,589
OES0FMESH A AR UYI 4,589
= 2,295
S 2,294
=PNES N 478,823 375,747 103,076
A=A E = 478,823 375,747 103,076
101 1A 17,483 27,972 210,489
04 JIZtHZE2NSE=> 17,483 27,972 10,489
O A2 2 17,483
OF= PRl et eSS PARIE =
38,8503 x2H x50 3,885




A BEDIAFAEH

A f2HONEEY 2 MEHE2 2 (sHolda/oH

@ FARKNES

SN S(B) - NRAY - B2 o e =2
OFAZILEHI N =AY

38,850 x 10 »35¢ 13,598

201 Let2d| 258,500 278,500 20,000

02 2Z223H| 258,500 278,500 220,000
A =l 6,000
OF At 6,000
A EEHIK XL 45,000
OHESLASBIDIZFHANES 40,000
O=247], 32|82 SUHLEHI KX 5,000
O3 HA 201,000
(OFSIIR= TS k=1 ¥=d 180,000
OXJItdesZ 2= 16,000
OESELEFNHAUIINAZ 5,000
CIXF & 2HH| 6,500
OSSR FUHL 22/ 5,000
OHEHEEER 1,500

301 L2 A3 9,840 1,275 8,565

09 BUAILRRIBLHS 9,840 1,275 8,565
2= 80,0003 x2H*12& 1,920
WAL 5,000 x2H 244 2,440
ImE=3:] 10,0003 »2H 244 4,880
Il =8l 300,000 2% 600

307 QI2t0IA 48,000 48,000 0

05 BIZtRAE = 48,000 48,000 0
OFAMNEAES 48,000

401 A &HIYL 2048 145,000 20,000 125,000

01 Al&H| 145,000 20,000 125,000
2l A ESE3 A 145,000

HE2AHH(USDIARHE)(IIEHIIEH ,001,566 926,012 75,554

QI 2 905,066 833,812 71,254

ol 2EH| 905,066 833,812 71,254

101 Q14| 862,906 790,132 72,774

01 2 492,568 434,721 57,847
DI2= 269,686
Os=H 269,686
-53(3023) 2,961,300& x1H «12& 35,536
-63(1783) 2,167,400 «2H 128 52,018
-73(1288) 1,715,600& x3E «12& 61,762
-82(728) 1,273,500& x1E *12& 15,282
-Jlsr=(1488) 1,816,000& x 1« 123 21,792
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S 22D RHE
Y HH2HAH(USDIARMHE)(DIEH/IIE})
chel: o2t oyl
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
-Jls92 (1832 8) 1,423,6003 x1E 123 17,084
-Jls10=(588) 931,800& 2+ 12& 22,364
-HIAMN(1288) 1,827,000& x2E «12& 43,848
Oao= 24,724
O&dZ=H 296,686,000& *1/12 24,724
=g 63,084
OAZI2Z28Y 32,418
-HH=E 8,312 x13H +10Al 2++122 12,967
-E=UE 8,312 «13F +15A 2++128 19,451
ON&E=d 10,890
- <Xt 40,0002 x13ZH +0.78«12& 4,868
- JIEHHE 20,0003 13 x1.48+12& 4,618
AT =] 30,0003 * 132 +0.30+12& 1,404
OXHsHIEZ+Y 1,800
- Ssh 51,9903 x6E +0. 19+43] 238
- Ssh 433,880 x6& +0. 15+43] 1,562
(OFSFmt =) Fig=) 10,680
- 2548014 130,000 x1H « 1228 1,560
153 0] &f~25E 0] B¢ 80,0003 x2H*12& 1,920
- 100l &f~15& 01t 60,0003 x7E*12& 5,040
- 50l &~10= 0] Bt 60,000 x3H 128 2,160
OS+ge=4 7,296
-Jl=gRse 4,080
- 58 50,0003 x1E«12& 600
6,72 30,0003 x4 H«12& 1,440
=) 20,0002 x1H«12& 240
JH&Z (D& AL 50,000 x1H «12& 600
JHEZ (D1 S A JTAL)
30,000& x2H 128 720
It (AFHIIAL) 20,0009 »2E 128 480
- 1,920
AR ZREA 80,0003 x2H +12& 1,920
- ot e = 360
PRI FSEE S R=g= N,
30,000& x1E~12& 360
- NSA2ELEHH RS
40,0002 x1H« 128 480
-dAx=g 456
= 38,0003 x1E+12& 456
O NZ A 130,000& «13H »12& 20,280
Ou S22l 19,920
O5= 140,000 «1H «12& 1,680
06,72 130,000 «8H «12& 12,480
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S pI2DIITHE
HE: #HNSYAY (ASDIIGTHE)(DIEHIIE)
cHel: ol 2 Y| (649l &2
RA B SA(BH) - NRAY - B 01 e HRE2
O8=0l5t 120, 0009 x4 * 122 5,760
BEEEST 296,686, 00021 *1/ 12+60%+25] 29,669
CIOMAXIREl 296,686,0009%1/12+16. 7%+ 12 49,547
mf=BI=PTT 24,723,002 1/30%192 15,658
03 RIIHAZ 2N S 370,338 355,411 14,927
OZ+0ASRLH 2| 226,885
oJlez 38,8509 * 158 x2532! 147,436
Oa0i2 147,436, 00021 * 1/ 12%400% 49,146
OFs4+g 33,8502 +15% *522! 30,303
mf=pEsE 38,8502 * 158§+ 192 11,073
OEY2R4Y 38,8502 +1.5¢15H+6 122 62,937
OAZ 2224
38,8502 *1.5/8+10Al 2+ 158« 128 13,112
Om =] 10,0002 *15% %25 3,000
BENVEFEEICEE BT 10,000
mERNEE] L0002 #1580 %202 * 1224 10,800
mEEE 28,031
BIER-EPIE:] 50,0002 *152 %23 4,500
203 YR FAY| 3,520 6,480 £2,960
02 MM RETY| 520 480 40
BEEIYSIE "1 40,0009 *13% 520
04 BNSYLRETY] 3,000 3,000 0
CI21E (15201 5t) 250,000 *122 3,000
204 HPLAY| 30,960 29,520 1,440
NIEETEEERS-TETT 1,800 1,800 0
52 (0120%) 150, 0002 * 122 1,800
02 XS] 21,960 20,520 1,440
052 25000021 #1212 3,000
(162, 1 T AH 155, 00021 *42] 1224 7,440
O72,71573 140, 00021 *424 128 6,720
[18-92,0158-93 105,000 %224 « 122 2,520
(91510 95,0001 2 * 122 2,280
03 SR+ S| 7,200 7,200 0
el g st 50,0002 * 122 * 128 7,200
303 a2 7,680 7,680 0
NIERE] 7,680 7,680 0
BEEIEEEES= 80,0002 +8% + 122 7,680
EET 96,500 92,200 4,300
=l 96,500 92,200 4,300
201 Yereg| 76,600 76,000 600
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